FINAL EXAMINATION
December 7, 18:00-19:50

Pm

OPEN BOOK - ALL PROBLEMS EQUALLY WEIGHTED

Prof. G. Temes-

1. For the terminated two-port shown, L =

1 pH and C = 4 pF. The scattering

parameter S11 is equal to 0 for all frequencies.

a. What are the impedance'parameters zij of the twoport? What is the vaiue of R?

b. What are the absolute values of the other three scattering parameters? Why?

c. Derive S12(s) and S21(s)!

L
2. Find the Thevenin equivalent of the circuit shown using the adjoint network

method. :
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